R#ETAN XFX BEBSE Sv59L 02

1. ROAXZRBOFEEE. (S0P, A1 3107, Bfk1540%, CHk24340%)

1 22-1 (2 2*+22-38

(3) 2% — 202 + 100 (4) x? — bay + 632
(5) 922 — o2 (6) 2?2 — 13z + 12
(7) 22 —2-56 (8) 2%+ 2lay + 54y?
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2. XOAXZEREREX. (SHk40F, A1 108, B1 340, C #2440 )

(1) 1-—9? (2)  2?+3z-18

(3) 22— 162+ 64 (4) 2% —Txy + 6y>
(5) 252 — 92 (6) 22 —8x +12

(1 22—z—72 (8) 22 4 20zy + 643>
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REFAN XFRX EBME SVFL 02 BEES

1. RXOAZKEDHE L. (SHh40®, A1 108, B143 408, C#h25 40 )

* R - RFEAOEH

a? + 2ab + b? = (axb)?
BEANX { a2 — b2 = (a+b)(a—0>b)
2+ (a+b)x+ab = (z+a)(xz+Db)
(1) z?2 -1 (2) 22 +22 -8
=(x+1)(x—1) =(x+4)(x —2)
(3) 22 —202+ 100 (4) % -5y + 6y
= (z — 10)* = (z — 2y)(z — 3y)
(5) 92 — 92 (6) 2?2 — 13z + 12
— (32 + )3z — y) — (& —1)(z — 12)
(7) 2?2 — 1 — 56 (8) 2% + 21zy + 54y?
—(z+T)(z—8) — (= + 3y) (= + 18y)
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2. XOAXZEREREX. (SHk40F, A1 108, B1 340, C #2440 )

=(1+y)(1-y)
Yo fiF

Gl= -2 -1)
=—(y+1)(y—-1)

(3) z? — 162 + 64

= (x — 8)?

(5) 252 — 92

= (52 + y) (5 — y)

(7 22—z-72

=(x+8)(x—9)

(2) x? + 3z — 18

= (z+6)(z — 3)

(4) 2% — Txy + 6y

=(z — y)(z — 6y)

6) a2—8x+12

= (x — 2)(z — 6)

(8) 2 +20xy + 6492

— (2 + 4y)(z + 16y)
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